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(DAL (L-ax)(1-bx?)(L-cx)(1-dx?) oll (BH L.
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X 0 1 2 3 4
Ux 1 0 1 4 9 16

Q.5 (a)ueeell we [Qototl s cR€l w2l EOQstl H3call ¥y Andl
(bycwR [Quas wougl 12 [Qlu utefdullal AHstcl dgf Heca AHcll Aol
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(c)ellAoj Blres A5 suolls] 19812l 2020 YHllof 32 Geuest i & A eald B
20214 GeulEel vidRAUetoll 231 YAl viELl.
ay 1981 | 1991 | 2000 | 2010 | 2020
GAULESL(000 2ol Hi) | 46 66 81 93 101
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(b) (Aol WA uRell Az ab sl €13, selsélug 0 sl EST, EFT.LST ol

LFT 20t
Act 1-2 |13 |23 |2-4 |3-4 4-5
Duration 120 |25 |10 12 6 10
Q8 (@) % log20=1.310, log30 = 1.4771, log 38= 1.5798 8l dl log 33{l [§Hd

UHHL B ARl ALl YLl kL
(b) L U7.0=235,U71 =256, U7.9 =436, Ug | =484 &l cll Ug g atsil
(Qeu d vidRal Yol Aadl
(c) Ml - 1. uael uHA
2. [QRuanael uua
uaA
(a) YAl AUOWRLS ol E& AARLS UH%
(b) w2ote] [Qetwd el Yot dvll wal AWlold 3.
(c) AlUEl [Qrerulell e AMos Al

ENGLISH VERSION

Instructions: (1) Statistical tables will be supplied on request.
(2) Simple calculator can be used.
(3) Question 1 and 8 are compulsory.
(4) Attempt any 3 questions from 2 to7 questions.
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Q-1

Q2

Q-3

Q-5
Q-6

Q7

1. Answer the following questions (Any Five):

[—

Obtain an unbiased estimator for population parameter P of binomial distribution.

M1 and M2 are unbiased estimator of & 1and& 2 respectively them find unbiased
estimator of g1+2 62

Uses of inventory control.

Find relation between A and E.

Give definition of PERT

Give definition of CPM

If k=25, R=12.5, ¢3=50, ¢1=0.01 then find -------

If EOQ=200 units , ¢3=80, and yearly demand =5000 units then find holding cost.

9. Find second dividend difference for €%
10. Explain critical path term.
(a) Define an estimator? State when we can say that the estimator is the best.

>

XN kW

(b) Normal population with mean p and variance 2 show that sample mean (x) is more
efficient then the sample median (M).

(c) Give definition of estimator and parameters, state the properties of best estimator.
-6 x
e 6
(d)For probability function f(x, 8) = T where x=0,12..... find sufficient

estimator of 4.
(a)Define maximum likelihood estimator and state its properties.

(b) A sample drawn from the normal population X ~ N(U, O 2 ) then find maximum
likelihood estimator for [l.
(¢) Find maximum likelihood estimator for a for the probability density function f(X):

KX where 0<x<1 and k is constant.

(a)Derive Lagrange’s formula for interpolation for un dual interval.
(b) Find the value of A' ((1-ax)(1-bx2)(1-cx*)(1-dx*)
(c) Newton’s formula of Dual interval for us=1-2X+X?, prove it and

Find the value for U1/2.
X 0 1 2 3 4
" 1 0 1 4 9 16

(a)Obtain formula for EOQ model shortages are not allowed

(b)Explain different methods of business forecast and its importance and its limitations.
(a) Explain the expenditures associated with 3 inventory problem.

(b) From the following data final EOQ number of orders per year optimum scheduling
period between two order and total minimum cost Annual demand=2500 units, price per
units=40, ordering cost=16 s, holding cost is 20%.

(¢) The table below shows how much a company produces from 1981 to 2020 estimates
0f 2021 from the correct formula of production intervention.

Year 1981 | 1991 2000 2010 | 2020

Production-(000 ton) | 46 66 81 93 101

(a) Using Following information
1. Draw network diagram.
2. Find the critical path.
3. Find the probability of complete the project in 22 days.
4. Find P(21<x<24)

Acl 1-2 23 24 4-5 3-6 6-7 5-7
Optimistic time | 1 2 3 4 5 2 4
Most likely time | 3 3 10 7 5 4
Pessimistic time | 5 10 3 22 15 14 4
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(b) From the [ollowing dala draw network diagram [ind critical path and EST, EFT, LST

and LFT.
Act 1-2 1-3 2-3 2-4 3-4 4-5
Duration | 20 25 10 12 6 10
Q-8 (a) Iflog20=1.310,1log30=1.4771. log 38 = 1.5798 then the value of

log 33 Find the un dual interval by Lagrange formula.

(b) If U7.0=235,U7.1 =256, U7.0 =436, Ug.1 =484 then Us , by Newton’s
divided interval formula.
(c¢) Explain 1. Optimistic time

2 Passimistic time
OR

(a) Explain consistent estimator and efficient estimator

(b) State and prove Newton’s divided difference formula for interpolation.

(c) Explain the method of binomial distribution.
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